¥ 7F-1, 0, 1% st

D x=-2
@ x=1

e,



© 5x=3x-412]

@ 4x-1=712]

® 4-3x=-2x [4]

©® x-2=-2x[2]

@ 3x=2x+5 [-5]

® 8-x=2x[1]




il
<+
olJ
~

ol

o

shelat.

?‘



2] of#1) ] Lol 43 4], oF5€] Lol 9 Alelet. opx|e] tfolzh
oFE] ttel9] 3 W7k Ht e B A FR

@ 695 @74
@ 8 =

-lOll



5. Jhmel Alme] olol )7t 83 Q1 AXGo] YUt o] HA2g el
Alz9] o7} 7= o] Lol met 20em B A2 ©, o AR
o2 Fatolet

a = cm?



6. 4x-3-(2x-7)=2+3x-1) dWtx=a¥d W, aly-3)+
2(y —a) — 4 °] S|E Fotofet.

al:tjl-:y_



A 5x —4(x—1) =8 - x5 ZH?

70
)

H}FA

2}

@ x=-1 @ x=1

D x=-2

® x=3

@ x=2



el
Hi

B 2

@D 3






ol Kar)

=1

.

ul



11, f(x) =x+2a oA f(3) =1 L, f(-1) o] F- Fo1A?



12.

x2] gro] 1,2,3,4,5¢91

D 1,2

@ 1.2.3.4.5



13.

T A Ala,b - 2),B(3b,a + 1) 7} x= Yol 41,

C(2a+b,a+2b) 4 W, AABC 9] Hol=?

21

27

@ 6 @ = ® 12 @ —

2

2



Slofl ek [ [kl

7x o] g

3

@ 28 ® -14 @ 14

O -28



15. 8 b
5 E}%J]aj]%y:;g}y:ax—‘ﬂ A=
e 52 Aol 4 b 2He

@D 6 @ 12 ® 18
@ 24 ® 30

yl

) M

Ry



16. po que g4, zfqlﬁiﬂ‘ﬂﬂr

241248 OABC 9] Yo 2 Tatola},




17.

Aol oA EFAYS 7= o 45 Q15 H22E25
Ef 7h A Sk, Wl 2H4 glo] 15 o o] Bl Aof 535 T o]
A HAE 2 7

s M

E]_L

D 50 @ 6o ® 74 @ 8 of G 9 oj

mlm



18. % A2 A4 A%k BE A= 40 A2l 279} Qo] 2 44
HHE Aolek. 7t Ahe] 44k9] o] 10017 3A ~B = 38 % W, A+ B
o] gre Fatolat,

Yk
=%



